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| 101 Great Games to Play on Your Home Computer.
By yourselfl or with others. Each complete with
programming and sample run. Edited by David H. Ahl |




135 INPUT "TINE INCREMEMT (SEC)*;S2
140 PRINT
130 INPUT “VELOCITY (FPS)*;Vv
160 PRINT
170 INPUT “COEFFICIENT™;C
180 PRINT
182 PRINT “FEEY"
184 PRINT
186 SI=INT(70/(V/(146252)))
190 FOR I=! TO 5
200 T(L)=sVvel™(I-1)/16
210 NEXT 1
220 FOR W=INT(-16%(V/32)°2¢V"2/32+.5) 10 0 STEP -.5
221 IF INT(HI<>H THENW 223
222 PRINT W;
225 L=0
230 FOR I=1 TO §)
240 FOR Te0 TO T(I) STEP S2
243 LeL+82
250 IF ABS(H=(.59(=32)eT 240al" (1-1)9T))>.25 THEN 2720
260 PRINT TAB(L/S2);%0";
270 MEXT 1
275 T=TiI*1)/2
276 IF ~16%17°2¢VeC " (I-1)0T<H THEN 2Y0
280 MEXT 1}
290 PRINT
JOO NEXT N
J10 PRINT Tab(1);
J20 FOR I=1 TQ INT(L+1)/52+1
330 PRINT *.*;
J40 NEXT 1
350 PRINT
355 PRINT * Q"
360 FOR I=1 10 INT(L*.7793)
JB0 PRINT TABCINTCLI/S2));1;
198 NEYT ¥
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Coderen lijkt veel op puzzels oplossen. is
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. The first character,
“F’, Is in position 0

r;;_..l If you leave off the start or end
index, Python will automatically use the
first or the last character of the string.

3 “Slicing”
Two indexes can be used te pull out
a part of the string or“slice” it. The letter in
the last position isn’t included.
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Writing That First Line of Code

Overall

¥ By Country By Gender

Younger than 10 years
10 to 11 years old
12 to 13 years old
14 to 15 years old
16 to 17 years old
18 to 19 years old
20 to 21 years old
22 to 23 years old
24 to 25 years old
26 to 27 years old
28 to 29 years old

30 years old or older

8.7%
9.8%
16.1%
19.6%
16.6%
14.3%
6.5%
3.2%
2.0%
1.0%
0.7%

1.6%
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Writing That First Line of Code

Overall
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By Country By Gender

Younger than 10 years
10 to 11 years old
12 to 13 years old
14 to 15 years old
16 to 17 years old

18 to 19 years old
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20 to 21 years old
22 to 23 years old
24 to 25 years old
26 to 27 years old
28 10 29 years old

30 years old or older
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public class BinaryCalculator {

public static void main(Int n) ({
System.out.println (Integer.toBinaryString(n));

}
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public class BinaryCalculator {

public static void main(Int n) ({
System.out.println (Integer.toBinaryString(n));

}







D\C@em\% (:bm\s =k c.or\CUs‘c N
3) BASIC

1 LET N2 = ABS (INT (N))

2 LET B$ = ""

3 FOR N1 = N2 TO 0 STEP O

4 LET N2 = INT (N1 / 2)

O LET B$ = STR$ (N1 - N2 * 2) + BS$
6 LET N1 = NZ

'/ NEXT N1

8 PRINT BS

9 RETURN




D\C@era\{- (:Dm\s =k c.or\CUs‘c N
3) BASIC

1 LET N2 = ABS (INT (N)) :¥

2 LET BS$ = """

3 FOR N1 = N2 TO 0 STEP O //33

4 LET N2 = INT (N1 / 2) p—
5 LET BS = STRS (N1 - N2 * 2) + B§ =— O
6 LET N1 = N2

7 NEXT N1

8 PRINT BS

9 RETURN
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LET N2 ABS (INT (N))

1 =

2 LET BS =

3 FOR N1 = N2 TO 0 STEP O

4 LET N2 = INT (N1 / 2)

o LET BS = STRS (N1 - N2 * 2) + BS
6 LET N1 = N2

7  NEXT NI

8 PRINT BS$

9 RETURN
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1 LET N2 = ABS (INT (N))

2 LET BS = ""

3 FOR N1 = N2 TO O STEP O

4q LET N2 = INT (N1 / 2)

5 LET BS = STRS (N1 - N2 *
6 LET N1 = N2

7 NEXT N1

8 PRINT BS

9 RETURN
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PRINT BS$
RETURN

1 LET N2 = ABS (INT (N))

2 LET BS = ""

3 FOR N1 = N2 TO 0 STEP O

4q LET N2 = INT (N1 / 2)

2 LET BS = STRS (N1 - N2 *
6 LET N1 = N2

7 NEXT N1

8

9
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1 LET N2 = ABS (INT (N))

2 LET BS = ""

3 FOR N1 = N2 TO 0 STEP O

4q LET N2 = INT (N1 / 2)

2 LET BS = STRS (N1 - N2 *
6 LET N1 = N2

7 NEXT N1

8 PRINT BS

9 RETURN
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1 LET N2 = ABS (INT (N))

2 LET BS = ""

3 (FOR N1 = N2 TO O STEP 0

4q LET N2 = INT (N1 / 2)

2 LET BS = STRS (N1 - N2 * 2) + BS
6 LET N1 = NZ2

7 NEXT N1

8 PRINT BS

9 RETURN
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Mo( -t {‘CC\\r\'\ ue S G('QW\ C ecx&‘m

Romember code

public class InsertionSort ({

public static void main (String [] args) {

int [] array = {45, 12,;..};
int temp;
for (int 1 = 1; 1 < array.length; 1i++) {
for (int 5 = 33 9 > 0; 53—} |

if (array([j] < array [§ - 1]1) {

// swap j with j - 1

temp = array([j];

array[j] = array([j - 1]:

array[j] - 1] = temp;

}

J
}

//print array

for (int 1 = 0; i <€ array.length; i++) {
System.out.println(array[i]):

}
}
}
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public class InsertionSort ({
public static void main (String [] args) {
int [] array = {45, 12,..};
int temp;
for (int 1 = 1l 1 € array.length; 1++) A
for (int §J = 1; 9 > 0; 3--) |
if (array([j] < array [7 - 1]) {
// swap j with j - 1
temp = array([j];
array[j] = array([j - 1]:
array[j] - 1] = temp;
}

J

}
//print array

for (int 1 = 0; i <€ array.length; i++) {
System.out.println(array[i]):
}
}
}
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public class InsertionSort ({
public static void main (String [] args) {
int [] array = {45, 12,..};
int temp;
for (int 1 = 1l 1 € array.length; 1++) A
for (int §J = 1; 9 > 0; 3--) |
if (array([j] < array [7 - 1]) {
// swap j with j - 1
temp = array([j];
array[j] = array([j - 1]:
array[j] - 1] = temp;
}

J

}
//print array

for (int 1 = 0; 1 < array.length; i++) {
System.out.println(array(i]);
}
}
}
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public class 'InsertionSort ({
public static void main (String [] args) {
int [] array = {45,12,.};
int temp;
for (i1t 1 = 1l 1 € array.length; 1++) A
for (int §J = 1; 9 > 0; 3--) |
if (array([j] < array [7 - 1]) {
// swap j with j - 1
temp = array([j];
array[j] = array([j - 1]:
array[j] - 1] = temp;
}

J

}
//print array

for (int 1 = 0; 1 < array.length; i++) {
System.out.println(array(i]);
}
}
}
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public class 'InsertionSort {
public static void main (String [] args) {
int [] array = {45,12,..);
int temp;

for (int 1 = 1; i < array.length; i++) |
for (int 3 = 1i; 353 > 0; j=-=) {
Lf (array([j] < array () 11) {
// swap j with § - 1
temp = array()):
array(j] = array(j - 1);
arrayl[d - 1] = temp; e
> QO
}
}

//print array
for (int 1 = (; 1 < array.length; i++) ({

System.out.println(array(i]);
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